DAV NCL PUBLIC SCHOOL GORBI BLOCK B
SAMPLE PAPER,SESSION 2025-26

Class 6, Subject-English Time Allowed:3 Hours
Maximum marks:80+4

General Instructions

1.This question paper consists of three sections A,B and C.

2.Attempt all questions.

3.Write correct question number in your answer book.

4.Question number 15 is from Bonus Reading Section.

SECTION-A (READING 20 MARKS )
Q1. Read the following passage carefully.

The giraffe is the tallest of all living land animals. A male can go up to 18 feet and a female
up to 15 feet. Such height enables them to escape the competition for ground level grass
that exists among other leaf-eaters. It also gives him a long range of vision. He takes the
warning of the approaching enemy early.

Giraffes eat a variety of leaves, but acacia leaves are their favourite diet. In spring when
many trees are not in leaf, they spend 80 per cent of the day eating. In summer, when trees
are in full leaf, they need only 15 per cent. The rest of the time is spent in resting and
quarrelling.

A giraffe’s long neck is made up like that of man and most other mammals, of only seven
vertebrae. The bones are attached to one another with ball and socket joints. These make
the neck flexible. It can run at 50 km per hour.

Rising from a lying position is a problem for such a large animal. So it usually keeps
standing even while it sleeps.

To reach water with such a long neck and legs, a giraffe spreads its front legs wide apart.
Then it lowers its neck to drink. This awkward position makes it easy for the lion to attack
it.



1.Find word from the above passage that mean opposite to the given word
a) detached

2.Write *True or False for the following statements.

a) A giraffe’s long neck is made up of 10 vertebrae.

b) Giraffes need to spend more time eating in summer.

3.*Multiple Choice Questions:*

1. What is the maximum height a male giraffe can reach?

A) 10 feet
B) 15 feet
C) 18 feet
D) 20 feet

2. What is the favorite diet of giraffes?
A) Grass
B) Acacia leaves
C) Fruits

D) Vegetable

3. How much time do giraffes spend eating in spring?



A) 15%
B) 50%
C) 80%
D) 100%

4. How fast can a giraffe run?

A) 30 km per hour

B) 40 km per hour

C) 50 km per hour

D) 60 km per hour

5. Why do giraffes spread their front legs wide apart while drinking water?

A) To run faster

B) To jump higher

C) To reach water with their long neck and legs

D) To sleep comfortably

*One-word answers:*

1. What enables giraffes to escape competition for ground-level grass?

2. What makes a giraffe’s neck flexible?

Q.2 Read the following passage carefully.



Last weekend, | went to the beach with my family. We left our house early in the morning
and reached the beach by 10 am. The sun was shining brightly, and the sea looked
beautiful. We spent the day swimming, playing games, and building sandcastles.

After a while, we got hungry and decided to have a picnic. We sat under a big tree and ate
sandwiches, fruits, and cookies. It was a lovely day, and we all enjoyed ourselves.

In the evening, we watched the sunset and took some beautiful photos. Then, we packed
our things and went back home.

Answer Any 12 of the following questions by choosing the correct options given below.
12x1=12

1. Where did the writer go last weekend?
A) Park

B) Beach

C) Mountain

D) City

2. What time did the writer reach the beach?
A) 9 am

B) 10 am

C)11am

D) 12 pm

3. What was the weather like at the beach?
A) Cloudy

B) Rainy

C) Sunny

D) Windy

4. What activities did the writer do at the beach?



A) Swimming and playing games

B) Building sandcastles and reading books

C) Swimming, playing games, and building sandcastles

D) Only swimming

5. Why did the writer decide to have a picnic?
A) Because they were tired

B) Because they got hungry

C) Because they wanted to watch the sunset
D) Because they wanted to play games

6. Where did the writer sit to have the picnic?
A) Under a small tree

B) Under a big tree

C) On the sand

D) On a rock

7. What did the writer eat during the picnic?
A) Sandwiches and fruits

B) Cookies and ice cream

C) Sandwiches, fruits, and cookies

D) Only sandwiches

8. What did the writer watch in the evening?
A) Sunrise

B) Sunset

C) Moonrise

D) Starry night

9. What did the writer take during sunset?
A) Videos

B) Photos

C) Notes



D) Audio recordings
10. When did the writer pack their things?
A) In the morning
B) In the afternoon
C) In the evening
D) At night
11. Where did the writer go after packing their things?
A) Home
B) Hotel
C) Restaurant
D) Park
12. How did the writer feel about the day?
A) Bored
B) Tired
C) Happy
D) Sad
13. Who went to the beach with the writer?
A) Friends
B) Family
C) Neighbours
D) Colleagues
SECTION-B: (WRITING AND GRAMMAR-30 MARKYS)

3.You are Radha head girl of your school. Your school is organizing an Inter House Group
Song Competition next week.Write a notice for school notice board informing the students
about the event in 50 words. 4 marks

Or

You are Adarsh/ Anaya of F-36 Jeevan Vihar, Bangalore .Day before yesterday there was
a marriage in your neighbourhood. The procession was very late and the orchestra kept on
playing loudly even after midnight. It disturbed students, old people, patients and infants.



write a letter to the Editor, The Times of India, New Delhi about the problem in about 100 -
120 words.

4.write a speech in about 100-120 words on ¢ Environmental pollution’,which you have to
deliver during the morning assembly in your school. 8 marks

OR
write an email to the principal of your school asking for full fee concession.
5.Fill in the blanks with the correct words given in the brackets.  4x1=4
a)Assaint __ all men. (loves /love)
b) One of the boys _ missing .(is /are)
c) Ramesh as well as his brothers _ a fine boy.(is /are)
d)Rakesh with his family _ present .(was/ were)

6.Fill in the blanks with appropriate verbs given in the brackets. 4x1=4

a)Ravihas ___ toschool (.gone/going)

b)She  toschool daily at 70’ clock. (goes/ is going)
c)Mr.Arya___ working in the laboratory. (is/are)
d)I __ eating lunch. (am/is)

7.Complete the sentences by using the correct options given in the brackets. 3x1=3

a) Lata___ (has/have) finished her homework.
b))l (has/have) drunk the milk.

c)Chirag and Sippy ____ (have/has) bought the toys.
8. Do as directed. 4x1=4

a)l not solve this sum. (Insert suitable modal)
b) It rainin the evening. (Insert suitable modal)
¢) | could get good marks if I hard .(work)

( Insert appropriate form of the verb)

d) He could become a great singer if his parents __ him. (help)
(Insert appropriate form of the verb)

9.Change the following sentences into passive voice.

a) He makes a robot.



b)I drew cartoons.

¢) He has decorated the room.

SECTION-C (LITERATURE): 30 MARKS
Q10.Read the following extract and answer the questions that follows. 4x1=4
Our ships shall sail across the high seas.

We shall set up schools—all sacred temples for us, and proudly thump our
shoulders and utter the name of this land of ours, Bharat.

a) Name the poem and the poet.
b) Where shall our ships sail?
c) Which figure of speech has been used in the first line?
d) What is the meaning of the word ‘utter’?
OR

It takes so long for a tree to grow So many years of pushing the sky Long branches stretch
the arms Reach out with their wooden fingers.

a) Name the poem and the poet.

b) Which figure of speech has been used in the third line?
¢) How much time does a tree take to grow ?

d) what do ‘the arms’ in the line 3 refer to?

Q11. Read the following extract and answer the questions that follow . 4x1=4
‘we have had a very painful incident at the college.’

a) identify the speaker?

b) whom is the speaker speaking to ?

c) what is the painful incident ?

d) write the name of the lesson and the author.
OR

1 wish I could get Rama’'s role’.
Ceeenrsnsones I don't think the teacher will give you Rama’s role ?

a) ldentify the two speakers .

b) why won't the speaker( in line 1)get Rama’s role ?
¢) which role does the teacher assign to the speaker?
d) Name the lesson and the author.

Q12 Answer ANY SIX of the following questions briefly. 6%2=12



a)Why was soames upset?
b) How did the family members react to Attila’s disappearance?

c¢) which role was assigned to Rupa in the play ‘The story of Rama’? was it in accordance
with her expectations?

d) why was Rupa suddenly asked to play the role of Hanuman?
e) why did the family buy Attila ?
f)How does the Gilchrist mend his action ?
g)what do wooden fingers in the poem ‘Our Tree’ refer to?
h) Bring out the contrast between the beginning and the ending of the poem “Our Tree”.
Q13. Is Attila really a hero? Give reasons for your answer. 4
OR

What does the poet want to convey by saying, ‘It took ten minutes’ in the poem ‘Our
Tree’? Explain.

Q14. Write a short paragraph: ‘I am proud to be an Indian’. 6
OR

Imagine yourself to be Rupa. Write a diary entry expressing your feelings on your
performance as Hanuman on the Annual Day function.

BONUS READING SECTION-4 MARKS
Q15.Write the answers of the following questions very briefly
who is the author of the story ‘The jungle Book’?
Who was the enemy of mogali?
who is the mother of Black Beauty?

with whom did black beauty live?
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D.A.V.NCL PUBLIC SCHOOL BLOCK-B, AREA GORBI
SAMPLE PAPER TERM-II EXAMINATION
Session: 2024— 2025
Class: VI Maximum Marks: 80

Subject: Mathematics Time: 3 Hours
General instruction:
1. This question paper consists of 36 questions divided into 5 sections A, B, C, D and E .
2. All questions are compulsory, however internal choice of questions are there.
3. The marks of each question are written in the right side of the questions.

SECTION-A
1. Find the ratio of 1 dozen to 1 score. Q)
OR
If two ratios are equal, then they are in
2. Express 2.6% as a decimal. (1)
3. Adgirl scored 60 marks out of 80. What percent marks did she score? (1)
4. Costof 1 penisX 5. Find cost of y pens. (1)
5.  The coefficient of p in 2pg? is . (1)
6. The power of variable in a linear equation is . (1)
7. Find the solution of the linear equation: gz 5. )
8. is a flat surface which extends endlessly in all direction. (1)
OR
Three or more points in a plane which lie on the same line are called
9. One angle of a right-angled triangle is 50°. Find the other angles of the trlangle Q)
OR
The side opposite to the vertex X of AXYZ is
10. Each angle of an equilateral triangle measures degrees. (1)
11. What is the relation between a diameter of a circle and its radius? Q)
OR
If length of a chord passing through the centre of the circle is 12 cm. What is the radius
of the circle?
12.  Two lines perpendicular to the same line will always . Q)

OR
The angle that cannot be constructed using ruler and compasses, is-
(@) 30° (b) 45° (c) 75° (d) 70°
13.  What will happen to the area of a rectangle, if the length is doubled and the breadth is (1)

halved?
14. If the perimeter of a square is 24 cm. Find its area. (1)
15.  Write the tally representation of 13. (1)
16. represents a given data in the form of pictures. Q)

SECTION-B

17. 1f 25, 35, X are in continued proportion, find the value of x. (2)
18. The cost price of 10 tables is equal to the selling price of 8 tables. Find the loss or profit  (2)

percent.

OR

Find the simple interest earned on % 3500 at 6% per annum for 73 days.

19. Solve for x: 5x-8=2x+10 (2)



20.

21.

22.

23.

24.

25.

26.

217.

28.

29.

Look at the given figure and answer the following: E D
(a) Name the sides of the polygon ABCDEF.
(b) Name any two pairs of parallel lines.

M is midpoint on BC of a triangle ABC. Then prove that AB + BC + CA > 2AM

B Y] C

Find the cost of fencing a rectangular park 300 m long and 200 m wide at the rate of 34
per metre.
OR

A square park is to be watered. If one side of the park is 4.2 m, find the area to be
watered.

SECTION-C
Out of the 72 persons working in an office, 28 are men and the remaining are women.
Find the ratio of the number of:
(1) men to that of women.
(if) men to the total number of persons.
(iii) persons to that of women.
In a bus x passengers have taken tickets of Rs 5 each and y passengers have taken
tickets of Rs 10 each. Find the total number of passengers and total fare received by the
conductor.
The ages of Rahul and Ramya are in the ratio 5: 7. After 4 years, the sum of their ages
will be 56 years. Find their present ages.

OR
Solve and check the solution in the given equation. 5m +3 =3m + 9
How many lines can pass through
(i) one given point? (ii) two given points? (iii) three non-collinear points?
Draw a line segment XY of length 5 cm. At X, draw a circle of radius 2 cm. At Y, draw
a circle of radius 3 cm. What do you observe?

OR
Draw a circle of radius 4.2 cm. Mark its centre as O. Take a point A on the
circumference of the circle. Join AO and extend it till it meets point B on the
circumference of the circle,
(1) Assign a special name to AB.
(if) Measure the length of AB
Draw a line segment XY equal to 8 cm. Using compasses and ruler, construct its
perpendicular bisector.
The marks obtained by 5 students in Mathematics are given below. Represent the data

by a bar graph.
Students Marks
Harshit 95
Ayush 60
Khushi 85
Rudra 70
Palak 50

)

)

)

@)

©)

©)

©)
@)

@)
@)



30.

31.

32.

SECTION-D

An NGO(non-Governmental organizations) working for the flood relief fund
collected a sum of Rs. 80000 from different societies of a locality. 65% of this
amount was spent for buying medicines. Rest of the amount was spent on
clothes for the affected people. The flood affected victims were very thankful to
the NGO members.

Read the above information and answer the following questions.(Any four)

(i)Percentage of this amount was spent on clothes is

a) 50% b) 100% C) 65% d) 35%

(i)Amount spent on medicines in Rs is

a) 25000 b) 50000 c) 52000 d) 28000

(iii))Amount spent on clothes in Rs. is

a)28000 b)52000 c) 80000 d)50000

(iv) The difference of amount spent on medicines and clothes in Rs. is

a) 28000 b) 24000 c) 52000 d)50000

(V) The difference of percentage of amount spent on medicines and clothes is

a) 30% b) 65% c) 80% d) 100%

SECTION E
Observe the given circle and answer the following questions. (Any four)
i) Number of radii is
a) 6. b) 4 c)7 d) 3 Be  NA

i) If OA =4 cm then OB =?

a) 2cm b) 4 cm c)8cm d)5cm

iii) The longest chord is

a) AB b) BD ¢) AC d) DE ‘

iv) The semi- circle is c _—E

a) AB b) ABC c) AED d) CDE D

v) If BE =8 cm then OC =?

a) 2cm b) 4 cm c)8cm d) 16 cm

Mr. Kumar is a business man as well as social worker. He always works for the welfare

of the villagers. In his village there was no school building so he plans to construct a
school in his village. The length and breadth of the school plot are 100 m and 30 m. He
wants to fence the school plot at the rate of X 10 per metre. He also gave a small square
plot for playground near to the school. The perimeter of square plot is equal to the
perimeter of the school plot. On the basis of above information answer the following
questions. (Any four)

i) Perimeter of the school plot

a) 1300 m b) 130 m ) 260 m d) 200 m
ii) Cost of fencing

a) X 1300 b) X 2600 ¢) X 260 d) 1000
iii) Length of each side of the playground -

a) 100 m b) 30 m c) 100 m d) 65m

iv) Area of the playground -

a) 1300 m? b) 4225 m? c) 1000 m? d) 2600 m?
v) Area of the School plot -

a) 1300 m? b) 4225 m? c) 3000 m? d) 2600 m?

(4)

(4)

(4)



33.

34.

35.

36.

Below is given a bar graph showing the production of wheat and rice in different states
of India. Read the bar graph and answer the questions given below. (Any four)

y
s
14 4
124 3
o
5 10{ g
B i 5 =
i 8 2 £
= £ = = =
- T 8
4] 3 N 2 e
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21 N
| N =
o U.P. W.B. M.P. Maharashtra Haryana
States ———
i) Which state is the largest producer of rice?
a) Haryana. b) W.B. c) U.P. d) M.P
i) Which state has total production of rice and wheat as its maximum?
a) W.B. b) Maharashtra. c)U.P d) Haryana

iii) What percent is the production of rice and wheat in Maharashtra over the
production of rice and wheat in MP?

a) 60%. b) 70%. c) 40%. d) 50%
iv) Which states have total production of rice and wheat same?
a) W.B and M P. b) W.B and U.P.
c¢) U P.and M.P. d) M.P.and Haryana
v) Which state has the production of rice and wheat same?
a) MP. b) UP. ) Maharashtra. d) none
SECTION -E

A car travels a distance of 550 km in 5 hours.
(a)What distance will the car cover in 7 hours?
(b)How many hours are needed to travel a distance of 3080 km if the car travels at a
uniform speed?
OR

The ratio of the length of a vertical pole and it's shadow on the ground is 7:2. Find the
length of the pole if the length of the shadow is 2.4 m.
(a) From the sumof (x> + x + 1) and (x* - x +1), subtract (x*> - x -1)
(b) Souvik travels by car with the speed of x km/hr for 4 hours and 5 hours with

the speed y km/hr. Write the expression for Total distance travelled by him.
Find the value of x from the given figure and hence find the measure of each angle of

the triangle.

*hkkkhkhkkhkkhkhkhkkhkhkhkkhkhkhkkhkhhkkhkhkkhkkhkkhkkihkkhkkikkhkkihkhkihkiik

(4)
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fadam:

1. 3TEHA UHUF (5) WUST: (6) YST: o Hied|

2. s @usH ARG 3AUMT HAUT @A |

3. TEAS UM THhidRrd: (21) gHT: Fied|

gus:-'&' HYfSAEag=Ta (10)
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aH AIH
(i) (i)
(ii) (ii)
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DAV NCL PUBLIC SCHOOL, GORBI
ANNUAL SAMPLE PAPER
SESSION-2024-25

CLASS-VI MM-80
SUBJECT-SCIENCE TIME- 3hrs

GENERAL INSTRUCTIONS:

1. Please read the instructions carefully.

2. This Question Paper is divided into 04 sections, viz section A,B,C and D.
3. Do as the instructions given in the respective sections.

4. Marks allotted are mentioned against each section/questions.

5. Attempt all the questions.

SECTION-A
Fill in the blanks: (1*6=6marks)
1. An electrical device needs at least terminals.
2. Amoebaisa...... organism.
3. are very small plants.

4. The process used by plants to synthesize their food is known as....
5. Blood vessels that carry blood from organs to heart are call
6. Skin removes water and excessive salts in the form of

Choose the correct option: (1*5=5marks)

7. The total number of whorls in a flower are
a) Oneb) Twoc) Threed) Four

8. The reproductive organ of a plantis the

a) flowerb) leafc) seedd) root

9. The roots that are consumed as food are

a) onion and sweet potatob) carrot and onionc) beet and turnipd) potato and radish



10. When a rubber band is stretched it can be said to have gained
a) chemical energyb) potential energyc) kinetic energyd) electrical energy

11. The thin metal wire inside an electric bulb is known as
a) insulationb) terminalc) filamentd) fiber

match the column- (1*4=4marks)
12. larynx heart

13. bile juice voice box

14. atrium nervous system
15. spinal cord liver

Write True or False. (1*3=3marks)

16. Two magnetic poles of the same kind attract each other.(True/False)
17. Naturally occurring magnets are called lodestones.(True/False)

18. Synthetic fibres are manufactured in factories. (True/False)

ASSERTION-REASON QUESTIONS (1*2=2marks)
(a) If both Aand R are true and R is the correct explanation of A.
(b) If both A and R are true but R is not the correct explanation of A.
(c) If Alis true but R is false.
(d) If Alis false but R is true.
19. Assertion: Cactus leaves modified into spines.
Reason: Cactus grows in a desert area.
20. Assertion (A): Firefly (Jugnu) is a natural source of light.
Reason(R): Firefly emits its own light.

or
Assertion (A): Water is a transparent material.
Reason (R): Water does not allow light to pass through it.
CASE STUDY QUESTIONS (Each question carries 4 marks)

21. A flowering plant is made of two main parts the root system and the shoot system. The
root system is the part of plant that grows below the ground. The roots absorb water and
mineral from the soil. When a seed germinates, a single root grows downwards into the soil



in some plants and then branches into smaller lateral roots called Tap Root System. Tap root
system is found in plants like pea, mustard, bean etc.

1) Name the two parts of a flowering plant.

ii) Define root system.

iii) What do you mean by Tap Root System?
iv) Name two plants having Tap Root System.

22. All organisms are made up of cells. The cell is the smallest unit of a living organism.It has
structure of its own. Group of cells make a tissue. Organs are formed from tissues. Different
organs working together form an Organ System. Human and animal bodies are made up of
many such organ systems.

i) What is a cell?

i) What forms a tissue?

iii) How organs are formed?

iv) What do you mean by an organ system?

23. Light is a form of energy. When light falls on objects, it causes the sensation of vision.
Such objects having their own light are natural sources of light. The sun, the stars etc are
natural sources of light. Such sources of light which are man-made are called artificial
sources of light. Tube light, electric bulb, CFL etc are artificial sources of light. Light travels
on a straight line path.

i) What is light?
il)What are artificial sources of light?
iii) Name two artificial sources of light.
iv) On what path does light travel?

OR

Bouncing back of light from an opaque surface is called reflection of light. Reflection of light
in a well defined manner is called regular reflection. Regular reflection occurs on a smooth
and shiny surface like plane mirror, shiny metal surface etc. When light is reflected in an
irregular manner, it is called diffused or irregular reflection. Diffused reflection occurs on a
rough surface.

1) What is reflection of light?
i) What is regular reflection?
iii) Name one surface which causes regular reflection.

iv) What is diffused reflection?



SECTION-B (Each question carries 2 marks)
24. Name the different parts of the shoot system.
25. Give the meaning of the term pollination.or
State the role of spines-the modified leaves
26. Name a device which converts
a) Electrical energy into light energy.
b) Chemical energy into electrical energy.
27. State the relative positions of the sun, the moon and the earth during a lunar eclipse.
28. Maximum iron filings stick to the two ends of a bar magnet, why?
29. a) Define the term natural fibres.
b) Give two examples of plant fibres.
SECTION-C(Each question carries 3 marks)
30. State the differences between biennial and perennial plants with examples.
OR
Write agny three uses of animals in our daily life.
31. a) Write the meaning of the term electric circuit.
b) Draw the symbol of a battery.
32 Draw a neat and labeled diagram to show the formation of an image by a pinhole camera.
33. a) Distinguish between permanent magnets and temporary magnets.
b) At what point the maximum strength of a bar magnet is located?
34. a) Write two different ways by which magnets can be made to loose magnetism.
b) To make a temporary magnet, which material should be used, a soft iron bar or a steel bar.
35. Why do we need to use fresh soil for cultivating jute plant every year?
OR
Write in correct sequence, the names of the steps involved in the production of cloth.
36. Give the difference between spinning and weaving.
OR
Write any three advantages of synthetic fibres over natural fibres.

SECTION-D (Each question carries 5 marks)



37. Define shoot system. Give two functions of the stem.
What is pollination?
.38. a) Draw a well labeled diagram of human excretory system.
b) Write the functions of the heart and arteries in the circulatory system.
OR
a) Draw a diagram of the tongue and show the location of the taste buds on it.

b) Write two functions of blood.

39. a) Distinguish between the terms conductors and insulators of electricity.Give one
example of each.

B) State the role of an electric switch in an electric circuit.
OR

a) Tools like screw drivers and pliers used by electricians have hands made up of plastic,
rubber or wood. Why?

b) Why should we dry our hands before touching an electric appliance or a switch?



DAV NCL PUBLIC SCHOOL, GORBI
Sample Paper-2
Session — 2024-2025
Class- VI M.M.- 80
Subject- Social Science Duration- 3hrs

General Instructions:

a.

—® oo

The question paper comprises five sections — A, B, C, D and E. There are 35
questions on the question paper. All questions are compulsory.

Section A- Question no. 1 to 20 are Very Short Answer Type Questions of 1 mark
each.

Section B- Question no. 21 to 27 are Short Answer Type Questions of 3 marks each.
Section C- Question no. 28 and 29 are source-based questions of 4 marks each.
Section D- Question no. 30 to 34 are Long Answer Type Questions of 5 marks each.
Section E- Question no. 35A and 35B are Map Based Question of (4+2=6) marks

SECTION-A (VERY SHORT ANSWER TYPE QUESTIONS)

A. Tick the correct option:

1
a
b.
2
a

OO ® AW

. If there is noon on one side of the Earth, the opposite side will have-

Morning c. Evening
Mid-night d. Twilight

. The largest ocean of the world is - .

Indian Ocean b. Pacific Ocean c. Arctic Ocean d. Atlantic Ocean.
Or

Which one of the following is the largest glacier in India?

a. Pindari  b. Baltoro c. Siachin d. Shivalik

. What were the first indications of megalithic culture in South India -
Burial sites b. Bones c. Stone circles d. Pottery
. The Sakas originally belonged to-
. Afghanistan b. Central Asia
. Iraq d. Europe
. Who is known as Nepolean of India
. Ghatotkaccha b. Chandragupta -I1
. Samudragupta d. Chandragupta

B. Fill in the blanks:

6. Rajshri was the daughter of King

7. Harshacharitra was written by :

8. was a local assembly of the Brahmin land owners.
Or
Harappan culture is about years old.
9. A democratic government is a government the people, the people and

the people.

10. A municipal council is also called in some states.



C. State whether following sentences are true or false.
11. There are 604 districts in India.
12. Harshavardhana was crowned in 606 CE..
13. Many sun temples were built in the Gupta period.
14. Chandragupta Il was a great warrior and an administrator.
15. Nagar Panchayat is the smallest local body in urban areas.

D. Match the following :

16. India a) Devotees of Shiva
17. Fa-hien b) Democratic government
18. Alvars ¢) China

19. The Arctic Circle six month long days in d) Oxygen
20. It helps in burning e) summer solstice

SECTION-B (SHORT ANSWER TYPE QUESTIONS)

21. What is meant by the revolution of the earth?
22. Name the four realms of the earth.
23. What is the area and size of India in respect to the world?
24. Where did Menander establish his rule in India?
OR

Which items were exported from India during the Gupta period.
25. Why was Nalanda University famous?
26. Who defeated the last chalukya king, Keertivarman?

27. What is the outcome of tolerance and self- discipline?
OR

Mention two sources of income of a Nagar Parishad.

SECTION-C (SOURCE BASED QUESTIONS)

28. Atmosphere is the vast expanse of air surrounding the earth on all sides. It is held with the earth by
the gravitational force. It contains several gases, such as Nitrogen, oxygen, carbon dioxide, etc.,
which are essential for life on the earth. 78% volume of gas in the atmosphere is Nitrogen. Oxygen is
about 21% of the total volume. These two gases constitute about 99% of the total volume of the
atmospheric air. Although the amount of carbon dioxide is very minute, i.e. 0.03% it is very
important part of the atmosphere. It keeps the earth warm.

a) Define atmosphere?
b) Which gas has the highest volume of gas in atmosphere?
¢) In what per cent oxygen is present in atmosphere?

d) Why carbon dioxide is important?



29. The contribution of Gupta period in the field of science and technology has been no less. Astronomy,
astrology, mathematics, medicine, chemistry, and many other branches of science were well-developed
during this period.

Aryabhatta was a great scientist and mathematician of this period. It was he who first proved that the
earth moves round the sun on its axis and not vice-versa. He had written a book Aryabhattiyam on
mathematics.

a) Mention the contribution of Gupta period in the field of science and technology?
b) Who was the greatest scientist and mathematician of this period?
¢) Who first proved that the earth moves round the sun?
d) Name the book written by Aryabhatta.
SECTION-(D) LONG ANSWER TYPE QUESTIONS

30. Explain the religious policy of Harsha.
31. Describe the administrative system of the pallavas.
OR
Explain the impact of the contact between India and Shrilanka?
32. Describe any five functions of Municipal Corporation?
33. Mention any three advantages of democratic set up.

34. Why are days and nights equal on 21st March at all places on the earth? Explain.
OR
State any four main features of the Himalayan Mountains.
SECTION-E

35A. In a outline map of India, locate and label the following:

a) River Tapi
b) Tropi of cancer
c) Andaman and Nicobar Islands

35B. In a outline map of India, locate and label the following:

a) Mathura

b) Sarnath
OR
Amravati



